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N.B. (1) Question No. 1 1s compuisory.
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(2) Attempt any three questions from remaining.

(3) Figures on right indicate full marks.

Write the parameters that can be calculated by using open cizciit agd chort 20
circuit test in transformer. | | o

List the advantages of Hopkinson's test.

What are the various losses in transformer 7 -

State the methods to minimize armature reaction.

Explain different electrical braking methods fof seperateiy excited D.C. motor. 10
Derive the expression for electromagneticgosguegfor doubly exited system in 10
terms of angular rate of charge of self andimiinal inductance of stator and

rotor winding.

Compare the two winding tramfarmﬁr -11th auto transformer and derive the 10

expression of copper soving in aufoiransformer.

The Hopkinonson's test,on two §¥h.nt gave the following result for full load :(= 10
(1) Linevoltage 4" e = 2.3 0%

(11) Current taken™rom : 11pp1y system excluding tield current = SUamp

1

(111) Motor armamra current 3380 amp
(iv) field currentq amp and 4'2 amp.
Calculate efﬁcmnc“ of the machmp working as an generator and motor assume

armature reszgi;;_z_ﬁce of each machine 1s 0-02 €.

TWO:S'I'i?Ilghi phase transformer rated at 500 KVA and 450 KVA respectively are 10

rcennea »d in parallel to supply a load 0f 1000 KVA at 0-8 p. f. lagging. The per

unu wcsistance and per unit leadkye reactance of first transformer are 2-3%

atlr. 6% respectively and second transformer 1-6% and 7% respectively.
Calcualte the K'VA load and povwer factor at whicii cach transtormer operates.
Explain thb characteristics of DC shunt and series motor. 10
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Lsiormer gave the folliowing test 10
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= A4KVA, 200/400V, 50 Hz single phas:
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O.C.test: 200V, 0-7A, 60w (L.V. side j
S.C.test: 9V, 6A,21-6W (H.V. 5id

Calculate (1) The efficiency and voltage regulatio& at full load (-8 1

(1:»

(11) The efficiency at half load at unitv rower factor.

i~

(b) Draw phase diagram for single phase transformer for ] lagging an

factor

6. (a) Explain the armature reaction in D.C. machine. @\ 10
4

(b) Explain 3 point starter and also explain advantages olnt starter overit. 10
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